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PHILOSOPHY — GENERAL
Paper : GE/CC-4
(Philosophy of Mind)

Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]

The figures in the margin indicate full marks.

1. Choose the correct option (any ten) : 1x10
(a) One of the modern psychologists, who held that psychology is the science of behaviour is
(i) Stout (i) James
(i) Watson (iv) Descartes.

(b) The perspective of psychology is

(i) Objective (i) Subjective

(iii) Experimental (iv) Logical.
(c) Who has accepted pre-conscious state of mind?

(i) Thorndike (i) Binet

(i) Freud (iv) James.

(d) Sensation is
(i) an active mental state (i) an inactive mental state
(iii)y a complex mental state (iv) the consciousness of an object that has quality.
(¢) “The perceptual field is an organised whole.” — The statement is made by
(i) Kohler (i) Wundt
(i) Titchener (iv) Freud.

(f) “Animal learns through some blind and mechanical activity.”— This is the view of

(i) Thorndike (i) Kohler
(iii) Pavlov (iv) Skinner.
(g) ‘The fundamental laws of learning’ stated By Thorndike are of
(1) one type (i) three types
(iii) four types (iv) two types.
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2.

(h) Retroactive inhibition is the

)

(k)

)

(i) cause of dream (ii) cause of memory
(iii) cause of forgetting (iv) cause of imagination.
One of the following conditions that is not applicable for memory is
(i) retention (ii) reproduction
(i) recognition (iv) repression.
‘Dream is wish fulfilment’— this view is held by
(i) James (i) Watson
(il) Spearman (iv) Freud.

‘Consciousness is a stream’— this statement is made by

() William James (i) Watson

(i) Sigmund Freud (iv) P. F. Skinner.
According to Freud, the primary levels of mind are

(i) three (i) two

@if) four (iv) five.

Answer any five questions :

(a)
(b)
(c)
(d)
(e)
@
()
(h)

Discuss, in brief, Trial and Error Theory of Learning.

Describe briefly the nature of unconscious mind.

What is stimulus? In this context, distinguish between adequate and inadequate stimulus.

How is 1.Q. calculated of an adult persons?

Discuss three laws of association in context of memory.

Show the distinction between illusion and hallucination with suitable examples.
Mention the defects of Binet-Simon Test.

What is meant by field of consciousness? Explain in brief.

Answer any two questions :

(@)
(b)
(c)

Discuss Freud’s theory of dream. Explain ‘Dream-work® according to Freud.
State the attributes of sensation. Make a distinction between sensation and perception.

Discuss critically Gestalt theory of perception.

5x%5

7+8
9+6
15

(d) What does the word ‘insight’ mean? Explain insight theory of learning. Is this theory tenable?

1+8+6



